Section—C 2x12=24
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.
Each question carries 12 marks.
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10. What is SQL ? Explain with types of SQL
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Note .— The question paper is divided into three Sections
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What is the purpose of Normalization ? Give the
steps to normalize a relation.
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Draw the architecture of DBMS. Explain it and
also write the role of DBA.
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What are stored procedure and triggers ? How are
they created ? What are their advantages and
disadvantages ?
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A, B and C. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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1. @)

(ii)

(iii)

(iv)

v)

(vi)

What is Database Schema ?
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What are DDL Operations ?
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Write the syntax of DELETE table from
database.
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Define Specialization in DBMS.
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What is Strong entity set ?
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What is the meaning of ‘Diamonds’ in E-R

Diagram ?
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(vii) Write the name of Aggregate functions.

Note —
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Section-B 4x6=24
(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 6 marks.
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. Explain ODBMS model with example.
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. Explain all symbols used in E-R diagram.
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. What do you mean by Serializability ? Discuss the

view serializability.
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. Compare partial and total participation with

example.
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. What are Set Operations ? Explain with example.

Y2 YA 1 T ? ST died HART |

. Explain different types of keys in DBMS.
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. Discuss the utility of join in RDBMS.
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. Compare DBMS and file management system.
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